
                                                                                                              
 

Тестовое задание для диагностического тестирования по дисциплине: 
 

Практическая грамматика английского языка, 1-4 семестры 

 

Код, направление 

подготовки 

45.03.02 Лингвистика 

Направленность 

(профиль) 

Перевод и переводоведение 

Форма обучения очная 

Кафедра-

разработчик 

Кафедра лингвистики и переводоведения 

Выпускающая 

кафедра 

Кафедра лингвистики и переводоведения 

 

1 семестр 
 

Проверяемая 

компетенция 

Задание Варианты 

ответов 

Тип сложности вопроса 

ОПК-1.3 Выбор пропущенных 

слов 

 

1. Выберите 

правильные 

варианты ответа из 

списка: 

 

These are [1] pencils. 

[2] pencils are black. 

 

 

 

 

 

 

 

 
1. – 

2. the 

3. a 

4. an 

 

Низкий 

ОПК-1.3 Одиночный выбор 

 

2. Выберите один 

ответ из списка: 

 

Could you give me … 

information I asked 

for in my letter?  

 

 

 

 

1. the  

2. - 

3. a  

 

Низкий 

Документ подписан простой электронной подписью
Информация о владельце:
ФИО: Косенок Сергей Михайлович
Должность: ректор
Дата подписания: 25.06.2024 07:46:56
Уникальный программный ключ:
e3a68f3eaa1e62674b54f4998099d3d6bfdcf836



ОПК-1.3 Одиночный выбор 

 

3. Выберите один 

ответ из списка 

 

Selfish people only 

care about … 

 

 

 

1. them 

2. they 

3. their 

4. themselves  

Низкий 

ОПК-1.3  

Одиночный выбор 

 

4. Выберите один 

правильный ответ из 

заданного списка: 

 

The book I’m reading 

is … than yours.  

 

 

 

 

 

 

1. thin 

2. the thinnest 

3. thinner 

4. thiner 

 

Низкий 

Выбор пропущенных 

слов 

 

5. Выберите 

правильные 

варианты ответа из 

списка: 

 

1. It is 

raining [1].       

2. He can speak 

Spanish [2].             

3. Modern cars go 

very [3]. 

4. She moves like a 

cat: very [4].            

5. It’s very hot today. 

The sun is shining 

[5].                           

                               

 

 

 

 

 

 

 

a. slowly  

b. fluently 

c. fast 

d. heavily 

e. brightly 

f. quietly 

g. early 

Низкий  

 

 

 



ОПК-1.3 На соответствие  

 

6. Соотнесите с 

правильным 

ответом: 

1. много воды 

2. много моркови 

3. много шоколада 

4. мало конфет 

5. мало сока 

 

 

 

 

a. a lot of 

water 

b. much 

chocolate 

c. little juice 

d. a lot of 

carrots 

e. few sweets 

f. few juice 

g. little sweets 

h. much carrots 

i. many water 

j. a few juice 

Средний 

ОПК-1.3 На соответствие 

 

7. Соотнесите с 

правильным 

ответом: 

 

1. Is there [1] 

interesting in the 

 programme of the 

concert?  

 

2. I could see [2] it 

was quite dark. 

 

3. I know [3] in your 

town. Tell me [4] 

about them. 

 

 

 

 

a. anything 

b. nothing 

c. nobody 

d. anyone 

e. something 

 

Средний 

ОПК-1.3 Выбор пропущенных 

слов 

 

8. Вставьте 

пропущенные слова 

из заданного списка 

 

1. There is [1] ink in 

my pen. 

2. There are [2] bears 

in the zoo. 

3. There is too [3] 

soup in my plate. 

 

 

 

 

a. little  

b. a little 

c. much 

d. any 

 

 

Средний 



ОПК-1.3 На соответствие 

 

9. Соотнесите с 

правильным ответом 

имени 

существительного во 

множественном 

числе: 

 

1. a fish  

2. a knife  

3. a family  

4. a woman  

5. a tooth  

6. a foot 

7. a box 

8. a mouse  

9. a sheep  

10. a child  

 

 

 

 

a. fish  

b. knifes  

c. familys  

d. woman  

e. toothes  

f. feet 

g. boxes 

h. women 

i. families 

j. mouse  

k. wife  

l. sheeps  

m. children  

n. knives 

o. sheep 

p. mice 

q. teeth 

r. childrens  

Средний 

ОПК-1.3 Одиночный выбор 

 

10. Выберите один 

правильный ответ из 

заданного списка 

 

This is the … power 

station, I’ve ever 

seen.  

 

 

 

 

 

 

1. most large 

2. large 

3. most largest 

4. largest 

Средний 

ОПК-1.3 Множественный 

выбор 

 

11. Выберите один 

правильный ответ из 

заданного списка 

 

Steven is of … height.  

 

 

  

 

1. straight 

2. medium  

3. well-built 

Средний 

ОПК-1.3 Одиночный выбор 

 

12. Выберите один 

правильный ответ из 

заданного списка 
 

…. policeman. 

 

 

 

 

 

1. This is a 
2. These are 
3. Those are 

Средний 

ОПК-1.3 На соответствие  

 

 Средний 



13. Соотнесите с 

правильным 

ответом, используя 

притяжательные 

местоимения: 

 

1.The children had to 

cook … own supper.  

2.Bill borrowed 

Jenny’s car. … own 

car was being 

repaired.  

3.I’ll bring … own 

sheets and towels.  

4.Every dog had … 

own special basket to 

sleep in.  

5.You should do … 

own washing up.  

 

 

 

 

 

 

a. my 

b. their 

c. its 

d. your 

e. his 

f. you 

g. her 

 

ОПК-1.3 На соответствие  

 

14. Соотнесите с 

правильным 

ответом: 

 

A: What do you think 

of Johnson’s new 

book?  

B: I think it is … than 

his last book. 

 

 

 

a. young 

b. interesting 

c. expensive 

d. more 

interesting 

 

Средний 

ОПК-1.3 Одиночный выбор 

   

14. Выберите один 

вариант перевода из 

списка 

 

The concert will start 

… in  an hour.  

 

 

 

 

1. in  

2. at  

3. between 

Средний 

ОПК-1.3 Множественный 

выбор: 

 

16. В трёх 

предложениях 

допущены ошибки. 

Найдите 

единственное 

правильное 

предложение. 

 

 

a) In June he has 

going to find a 

new place to 

live.  

b) At June he 

was going find a 

Высокий 



  new place to 

live.  

c) In June he is 

going to find a 

new place to 

live.  

d) On June he 

was going to 

find a new place 

to live. 

ОПК-1.3 Множественный 

выбор: 

 

17. Выберите 

правильные ответы 

из списка 

 

Мама говорит, что 

близнецы часто 

убирают в своей 

комнате. 

 

 

 

1.The mother 

says that the 

twins often tidy 

up their room. 

2. The mother 

says that the 

twins usually 

tidy up their 

room. 

3.The mother 

says that the 

twins always 

tidy up their 

room.  

4.The mother 

says the twins 

often tidy up 

their room. 

Высокий 

ОПК-1.3 Множественный 

выбор: 

 

18. В трёх 

предложениях 

допущены ошибки. 

Найдите 

единственное 

правильное 

предложение. 

 

 

 

a) We don’t got 

any relatives in 

Moscow.  

b) We haven’t 

got any relatives 

in Moscow.  

c) We haven’t no 

relatives in 

Moscow.  

d) We hadn’t got 

some relatives in 

Moscow. 

Высокий 

ОПК-1.3 Множественный 

выбор: 
 

 

Высокий 



 

19. Выберите 

правильные ответы 

из списка. 

 

a. чувствительный 

b. сдержанный 

c. вежливый   

d. грубый 

e. расстроенный  

f. ответственный 

 

 

 

 

 

 

 

1. responsible 

2. sensitive 

3. bright  

4. polite 

5. rude 

6. upset 

7. handsome 

8. reserved 

9. surprised 

ОПК-1.3 Упорядочение 

 

 20. Расположите 

перемешанные части 

предложения   в 

правильном порядке.   

 

Saturday/my/ came/ 

on/ Susan/ see/ to/ 

friend/ me/ 

 

 

 

 

 

My friend Susan 

came to see me 

on Saturday 

Высокий 

 

 

 

 

Тестовое задание для диагностического тестирования  2 семестр 
 

 

Проверяемая 

компетенция 

Задание Варианты 

ответов 

 

Тип 

сложности 

вопроса 

ОПК-1.3  Выбор пропущенных слов 

1. Раскройте скобки, 

употребив глагол в нужном 

времени и выберите 

правильный вариант ответа из 

списка: 

 

What you [1] for? — I [2] my 

pen and I [3] to find it before it 

[4] dark. 

 

 

 

 

 

 

 

 

1. have lost  

2. are you 

looking 

3. had 

4. got 

5. want 

6. gets 

 

 

Низкий 



ОПК-1.3 Одиночный выбор 

2. Раскройте скобки, 

употребив глагол в нужном 

времени и выберите один 

ответ из списка 

Who often … to work? 

 

 

1. does go 

2. will go 

3. goes  

4. is going 

5. has been going 

Низкий 

ОПК-1.3 Одиночный выбор 

3. Выберите один ответ из 

списка 

Who … in this house last week? 

 

 

1. lives 

2. has lived 

3. is living 

4. had lived 

5. lived 

Низкий 

ОПК-1.3  

Одиночный выбор 

4. Выберите один правильный 

ответ из заданного списка, 

соответствующий переводу 

предложения 

Они хотят сделать это 

задание сейчас. 

 

 

1. They are 

wanting to do 

this work 

now. 

2. They want to 

do this work 

now. 

3. They were 

going to do 

this work 

now. 

 

Низкий 

Одиночный выбор 

5. Переведите предложение, 

выбрав один правильный 

ответ из заданного списка 

Когда я вышел на улицу шёл 

дождь 

 

 

1. When I had 

gone out it was 

rained. 

2. When I went 

out it was 

raining. 

3. When I was 

going out it 

has been 

raining. 

4. When I has 

going out it 

has been 

raining. 

 

Низкий  

 

 

 



ОПК-1.3  На соответствие  

6. Соотнесите с правильным 

ответом: 

1. When I … a thousand English 

words by the end of the year, will 

I be able to read a newspaper? 

2. Tomorrow I … something new. 

3. My brother … this poem by 

heart last Monday. 

 

 

 

 

 

 

a. have learnt 

b. will be 

learning 

c. has learnt 

d. will learn 

e. learnt 

 

Средний 

ОПК-1.3 На соответствие  

7. Соотнесите с правильным 

ответом: 

1. Our new house … in a year. 

2. This bridge … 

3. He … an amazing cottage 

this year. 

4. It … lately. 

5. These houses … now. 

 

 

 

 

a. will be built  

b. has built 

c. was built 

d. has been built 

e. are being 

built 

f. were being 

built 

g. is built 

Средний 

ОПК-1.3 Выбор пропущенных слов 

8. Вставьте пропущенные 

слова из заданного списка 

I [1] at my report since morning. 

Now I [2] the conclusion. I [3] 

to finish it by midnight. 

 

 

a. has been 

working  

b. am writing 

c. is working 

d. am going  

e. have been 

working 

 

Средний 



 

ОПК-1.3 На соответствие 

9. Замените действительный 

залог на страдательный и 

выберите один правильный 

ответ из заданного списка 

1.Scientists often refer to this 

article. 

2. He published the book last 

year. 

3. Who wrote this novel?  

 

 

  

 

 

 

 

 

 

a. This article is 

often referred 

to by 

scientists. 

b. This article is 

often referred 

by scientists. 

c. Who was this 

novel written 

by? 

d. The book 

published by 

him last year. 

e. The book was 

published by 

him last year. 

f. Who was this 

novel written? 

Средний 

ОПК-1.3 Одиночный выбор 

10. Выберите один 

правильный ответ из 

заданного списка 

When did it … to him? 

 

 

 

 

1. happened 

2. happening 

3. happen 

4. has happened 

Средний 

ОПК-1.3 Одиночный выбор 

11. Выберите один 

правильный ответ из 

заданного списка 

By the end of the following year 

I … five of Shaw’s plays.  

 

 

1. will read 

2. will have read 

3. will be reading 

4. am read 

5. has been read 

 

Средний 



ОПК-1.3 Одиночный выбор 

12.Замените прямую речь на 

косвенную и выберите один 

правильный ответ из 

заданного списка 

She asked her boy, “Don’t shout 

at my little sister” 

 

1. She asked her 

son not to 

shout at her 

little sister. 

 

2. She asked her 

son don’t 

shout at her 

little sister. 

 

3. She asked her 

son no shout 

at my little 

sister. 

Средний 

ОПК-1.3 На соответствие  

13.Соотнесите с правильным 

ответом: 

1.Она сказала мальчикам не 

разговаривать на уроках 

2. Мама знала, что мы 

провалили экзамен. 

3. Студенты были уверены, 

что всё знают хорошо. 

 

 

 

 

a. She told the 

boys not to 

talk at the 

lessons. 

b. She told 

the boys do 

not talk at the 

lessons. 

c. Mother knew 

that we had 

failed our 

exam. 

d. Mother 

knew that we 

failed our 

exam. 

e. Students were 

sure they knew 

everything 

well. 

f. Students were 

sure they 

know 

everything 

well. 

Средний 

ОПК-1.3 На соответствие   Средний 



14.Соотнесите с правильным 

ответом: 

1. I have not seen her for ages 

and do not remember when I 

last saw her. 

2. They  have been studying 

English for a long time. 

 

a. Я не 

видел её сто 

лет и не 

помню, когда 

видел её 

последний раз.  

b. Я не вижу 

её совсем и не 

помню, когда 

видел её 

последний раз.  

c. Они учат 

английский 

язык уже 

давно. 

d. Они 

изучили 

английский 

язык уже 

давно 

ОПК-1.3 Одиночный выбор 

15.Выберите один вариант 

перевода из списка 

He has just asked me what I am 

looking for. 

 

 

1. Он 

спрашивает 

меня что я 

искал.  

2. Он только 

что спросил 

меня на что 

я смотрю. 

3. Он только 

что спросил 

меня что я 

ищу.  

 

Средний 

ОПК-1.3 Упорядочение 

 16. Расположите 

перемешанные части 

предложения   в правильном 

порядке.   

the/ asked/ where/ was /situated 

/ they/ university 

 

 

 

 

They asked where 

the university was 

situated. 

Высокий 

ОПК-1.3 Множественный выбор:  Высокий 



17. Выберите один ответ из 

списка 

Мама сказала, что близнецы 

часто убирают в своей 

комнате. 

 

1. The mother 

said that the twins 

often had tidied 

up their room. 

2. The mother 

said the twins 

often tidied up 

their room.  

3.The mother 

asked the twins if 

they often tidied 

up their room.  

ОПК-1.3 Множественный выбор: 

18. Преобразуйте 

предложение из 

действительного залога в 

страдательный и выберите 

правильные ответы из списка. 

His teacher gave him a chance. 

 

 

1. He was 

given a chance by 

the teacher.  

2.  He gave a 

chance to the 

teacher.  

3. He is 

given a chance to 

the teacher.  

4. A chance 

was given to him 

by the teacher.  

 

Высокий 



ОПК-1.3 Множественный выбор: 

19. Преобразуйте 

предложение из прямой речи в 

косвенную и выберите 

правильные ответы из списка 

She said, “I won’t go to the 

cinema with you “. 

 

 

 

1. She said that 

she wouldn’t 

go to the 

cinema with 

him. 

2. She said she 

won’t go to the 

cinema with 

him. 

3. She said she 

wouldn’t go to 

the cinema 

with him. 

4. She said that 

she won’t be 

going to the 

cinema with 

him. 

Высокий 

ОПК-1.3 Упорядочение 

20. Расположите 

перемешанные части 

предложения   в правильном 

порядке.   

at / was/ told/ to /rewrite /the / I/ 

once / test 

 

 

 

 

 

 

I was told to 

rewrite the test at 

once. 

Высокий 

 

 

 

 

Тестовое задание для диагностического тестирования  
3 семестр 

 
Проверяемая 

компетенция 

Задание Варианты 

ответов  

Тип сложности 

вопроса 

ОПК-1 Выбор пропущенных слов 

1. Fill in the gap with one word to 

render the meaning «Он просто не мог 

этого сделать»: 

He can’t … have done it  

 низкий 

ОПК-1.3 Выбор пропущенных слов  низкий 



2. Fill in the gap with one word to 

render the meaning «Он чуть не 

упал»:  

He … have fallen  

ОПК-1.3 Выбор пропущенных слов 

3.Fill in the gap with a modal verb to 

render the meaning «Ручка не пишет»: 

 The pen … write  

 низкий 

ОПК-1.3 Одиночный выбор 

4.Which verb  can have the category of 

person and number and all tense-aspect 

forms, as well as verbals 

a) can 

b) have to 

c) shall 

d) should 

низкий 

ОПК-1.3 Одиночный выбор 

5. Which verb renders the meaning of 

promise, warning, or threat? 

a) may 

b) must 

c) shall 

d) to be to 

низкий 

ОПК-1.3 На соответствие 

6. Match the sentences and the meaning 

of modals in them. 

1.He can’t 

have 

behaved like 

that. 

2.You can do 

anything you 

want. 

3.Can she 

have said it? 

4. You 

cannot park 

your car 

here. 

a) 

prohibition 

b) surprise 

c) 

improbability 

d) 

permission 

средний 

ОПК-1.3 На соответствие 

7. Match the sentences and the meaning 

of modals in them. 

1.He should 

see a doctor. 

2.They dared 

him to jump. 

3.We are to 

meet tonight. 

4. You ought 

to see the 

way she 

dances. 

a) challenge 

b) 

advisability 

c) describing 

smth exciting 

средний 



d) necessity 

arising out of 

an 

arrangement 

or a plan 

ОПК-1.3 Выбор пропущенных слов 

8. Choose a suitable modal for the 

sentence 

He (не пришлось)  to wait for a long 

time 

 средний 

ОПК-1.3 Выбор пропущенных слов 

9. Choose a suitable modal for the 

sentence 

Why ( с какой стати) I listen to you? 

 средний 

ОПК-1.3 Выбор пропущенных слов 

10. Choose a suitable modal for the 

sentence  

He always talks about his problems. 

– He (такой). 

 средний 

ОПК-1.3 Выбор пропущенных слов 

11. Choose a suitable modal for the 

sentence She can’t (не помогла) to 

do it. 

 средний 

ОПК-1.3 Выбор пропущенных слов 

12. Choose a suitable modal for the 

sentence  

Boys (всегда остаются) be boys. 

 средний 

ОПК-1.3 Выбор пропущенных слов 

13. Choose a suitable modal for the 

sentence  

You (незачем было приходить), the 

lecture has been put off. 

 средний 

ОПК-1.3 Выбор пропущенных слов 

14. Choose a suitable form of the 

Subjunctive Mood for the sentence  

It’s time he (сказал) the truth. 

 средний 

ОПК-1.3 Выбор пропущенных слов 

15. Choose a suitable form of the 

Subjunctive Mood for the sentence 

Alice wished  she (жаль, что 

рассказала) the truth. 

 средний 

ОПК-1.3 Одиночный выбор 

16. What verbs can be both defective 

and regular? 

a) need 

b) dare 

c) ought 

d) will 

высокий 

ОПК-1.3 Множественный выбор 

17. Choose the sentences in which 

modals express criticism, faultfinding 

or reproach. 

a) She might 

not have 

made such a 

mistake. 

b) You might 

have told us 

the truth. 

высокий 



c) They 

should have 

warned us 

beforehand. 

d) You could 

have done 

something to 

help us. 

e) He 

couldn’t 

have said 

such a thing. 

f) You 

oughtn’t to 

have been so 

sympathetic 

to her. 

ОПК-1.3 Множественный выбор 

18. Choose the appropriate variants  

a) It’s vital 

she do it. 

b) It’s vital 

she did it. 

c) It’s vital 

she would do 

it. 

d) It’s vital 

she should 

do it. 

высокий 

ОПК-1.3 Множественный выбор 

19. What modal verbs can express 

prohibition? 

a) can’t 

b) may not 

c) mustn’t 

d) are not to 

e) don’t have 

to 

f) needn’t 

высокий 

ОПК-1.3 Множественный выбор 

20 What modal verbs can express 

probability? 

a) must 

b) may  

c) should 

d) to be to 

e) have to 

f) ought to 

высокий 
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компетенц

ия 
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ОПК-1.3  

 

Выбор пропущенного слова 

1. Fill in the gap with one word 

to render the meaning «Будь что 

будет»: 

 Come… may  

 низкий 

ОПК-1.3 Выбор пропущенного слова 

2. Fill in the gap with the 

appropriate form of the verb: 

Nick and Pat would be 

disappointed if we  (be late) 

for their wedding ceremony. 

 низкий 

ОПК-1.3 Выбор пропущенного слова 

3. Fill in the gap with the 

appropriate form of the verb: 

I wouldn't have answered the 

phone if I ( to know) it was 

him. 

 низкий 

ОПК-1.3 Выбор пропущенного слова 

4. Fill in the gap with the 

appropriate form of the verb:  

We are tired as if we (to work) 

all day long. 

 низкий 

ОПК-1.3 Выбор пропущенного слова 

5. Fill in the gap with the 

appropriate form of the verb: 

I’d rather he (to call) me back. 

 низкий 

ОПК-1.3 Одиночный выбор 

6. Which sentence contains a 

gerundial predicative 

construction?  

a) I agreed to delay 

me leaving till next 

Monday. 

b) I saw him leaving 

the airport. 

c) The matter is now 

being discussed at 

the parliament. 

 d) After hearing the 

news, she got really 

upset. 

средний 

ОПК-1.3 На соответствие 

7. Match the verbals and the 

sentences that contain them. 

1. Infinitive 

2. Participle I 

3. Gerund 

4. Verbal Noun 

a) Memorize the 

proverbs and 

sayings. 
b) Tom was heard 

being a very smart 

student. 

c) They seem to have 

been arguing for a 

couple of hours. 

средний 



d) He was good at 

gathering 

mushrooms 

ОПК-1.3 Выбор пропущенного слова 

8. Use the appropriate form of the 

Infinitive: 

 She was very pleased (to 

choose) for this post. 

 

 средний 

ОПК-1.3 Выбор пропущенного слова 

9. Use the appropriate form of the 

Participle I:  

(to tell) of his arrival, I went to 

see him. 

 средний 

ОПК-1.3 Выбор пропущенного слова 

10. Use the appropriate form of 

the Gerund:  

My little sister isn’t afraid of 

dogs in spite of (bite) twice. 

 средний 

ОПК-1.3 Одиночный выбор 

11. Choose the suitable verbal:  

We had the roof (to repair)  

yesterday. 

a) repairing 

b) to be repaired 

c) repaired 

d) to repair 

средний 

ОПК-1.3 Одиночный выбор 

12. Choose the suitable verbal: 

But in fear of (to recognize) 

she lowered her gaze.. 

a) recognizing 

b) to recognize 

c) being recognized 

d) having been 

recognized 

средний 

ОПК-1.3 Одиночный выбор 

13. Choose the suitable verbal:  

Would you mind …here? 

 

a) have been 

smoking 

b) being smoked 

c) to smoke 

d) my smoking 

средний 

ОПК-1.3 Одиночный выбор 

14. Choose the suitable verbal: 

I was afraid of (to call) upon to 

give evidence against her. 

a) calling 

b) being called 

c) having been called 

d) called 

средний 

ОПК-1.3 Одиночный выбор 

15. Choose the suitable verbal: 

You needn’t tell me this. I 

happened  (to give) all the 

details by brother. 

 

a) to give 

b) being given 

c) to have been 

given 

d) to be given 

средний 

ОПК-1.3 Множественный выбор 

16. Choose the examples of the 

Complex Object Construction 

with the Infinitive. 

a) She saw her 

husband cross the 

road. 

b) The storm was too 

strong to go out. 

c) He entered the 

room, his eyes 

shining. 

высокий 



d) They were seen 

laughing happily. 

e) She finds the 

doctor to be a unique 

man. 

f) He turned to his 

sister to thank her.  

ОПК-1.3 Множественный выбор 

17. Choose the examples of the 

Absolute Participial 

Constructions. 

a) Receiving no 

letters from her 

father, she called 

him. 

b) He reached out 

across the table, his 

hand covering 

Marsha's. 

 

c) The man who is 

speaking now is our 

new secretary. 

 

d) Iris stared out 

over the landscape, 

her chin cupped in 

her hand. 

e)  The letter having 

been written, he went 

out to post it. 

 

f) Тhе book being 

translated into 

Russian, it could be 

read by everybody. 

высокий 

ОПК-1.3 Множественный выбор 

18. Choose the examples of the 

Complex Subject Construction 

with the Infinitive 

a) The first 

experiment proved to 

be a success. 

 

b) You could have 

heard a pin drop. 

c) My mother was 

clever enough to 

avoid arguing with 

her husband. 

 

d) We are sure to 

come to the heart of 

the matter. 

 

e) She was heard to 

laugh heartily. 

высокий 

ОПК-1.3 Множественный выбор a) At the moment the 

kids were heard 

going across the hall 

высокий 



19. Choose the examples of the 

Complex Subject Construction 

with the Participle 

b) He stood at the 

bottom of the bed, 

his hands folded in 

front of him. 

c) She could be often 

found helping the 

poor. 

d) The room being 

dark, I couldn't see 

him. 

e) Keeping his secret 

won't do any harm. 

f) James was seen 

reading a French 

newspaper. 

ОПК-1.3 Множественный выбор 

20. Choose the examples of the 

Complex Object Construction 

with the Participle 

a)  When Mary 

opened her eyes she 

saw Nina standing 

by her side. 

b) She felt her 

cheeks blushing a 

little. 

c)  At last she heard 

her name called. 

d) He looked at her 

intently, his curiosity 

reviving. 

e) The letter having 

been written, he went 

out to post it. 

f) He was aware of 

Jack's watching him 

attentively. 

высокий 

 

 

 

 

 

 

 

 

 

 


